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Question Number : 1 Question Id : 70819113214 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4

The value of the integral _”9 J-"|dJL' is :
—4

Options :

o
L3 | b
-

70819143611.

70819143612, -

70819143613.

70819143614, -

Question Number : 1 Question Id : 70819113214 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



4
feafearas _[|9 xz|dx T HS J
-4

Options :
121
70819143611.

70819143612. 2
70819143613.

70819143614. °

Question Number : 2 Question Id : 70819113215 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of infinite number of terms of a Geomelric Progression is 3 and the sum of the

9
squares of its terms is et The sum of the cubes of its terms is :

Options :
31
70819143615,
108

70819143616, 10

M| E:}

70819143617.

5
70819143618, 7



Question Number : 2 Question Id : 70819113215 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= & = = = =, B s - 9:; . = i = -
WF%E}&E?FEB{FH}EWFHHEUWWWEEWETE;U | Ut & WE T 33 Jear

Options :
31
70819143615, 1°
108

70819143616, 1°

M|E:i

70819143617.

E
70819143618. 7

Question Number : 3 Question Id : 70819113216 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following Boolean expression is a tautology ?
Options :

70819143619, F =P V4

70819143620. (P~ 9 =P

70819143621, P PV @) v (~9)

70819143622, PV "P) A (@ Vv (~9))



Question Number : 3 Question Id : 70819113216 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Jo for getis milaes =9 faoe use Bast e8ewnt 7 2

Options:

70819143619, F =P V4

70819143620. (P9 =P

70819143621, P~ TPV A@) v (~q)

70819143622, (P ¥ "P)~ @V (~9))

Question Number : 4 Question Id : 70819113217 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

b s l

Let |a| <1, [bl<1, |c|<1 and x= l A = l b z=N ™ If = =+ T are in Arithmetic

1 1
- A
n=( n=() n=( ’

Progression, then :
Options :

70819143623, & b and care in Arithmetic Progression

70819143624, & b and c are in Geometric Progression

70819143625, & 2b and c are in Arithmetic Progression

' i abcky TR —
20819143626. a, b and c satisfy 2b==ac



Question Number : 4 Question Id : 70819113217 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

N6 B8 |a|<1, b|<1, [<1mZ x=) a", y=Y b, z= ) " F@T 7

n=( n=( n=(l '
78, 3¢ :
Options :

a, b M3 ¢ nigditesa &3t =9 95|
70819143623.

70819143624, & P75 ¢ st == fo9 o5

70819143625, & 2b w3 ¢ vigaiteEa ®3t &9 g5

_ ” o T 5
20819143626, abmzc 2b ac d HIAC dd€ TG |

Question Number : 5 Question Id : 70819113218 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
{; % +7n+5
L | is equal to :
i n!
Options:

70819143627, 19e+5

70819143628, 19e—5

70819143629, 16€—2

70819143630, 16e—7



Question Number : 5 Question Id : 70819113218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 +Tn+5

n!

- 2n

3

n=1

q9E9 J
Options :

70819143627, 19e+5

70819143628, 19¢—5

70819143629, 16€—3

e |

70819143630, 10€-

Question Number : 6 Question Id : 70819113219 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least positive integral value of A such that 1070+ (3% (4)°2)+ A is divisible by 9 is :
Options:

70819143631, 2

70819143632.

|

70819143633.

70819143634, 1

Question Number : 6 Question Id : 70819113219 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A T {58531 583K UTs nid HE, 7eid 1070+ (3 (4)2) + A, 93 o A= T
Options :

70819143631, 2

[F5)

70819143632.

=]

70819143633.

[==1

70819143634.

Question Number : 7 Question Id : 70819113220 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are 4, 5 and 6 points on the three parallel and co-planar lines. If no set of four or more
points is cyclic and no set of three points lying on distinct lines is collinear, then the number
of circles passing through exactly three points is :

Options :

70819143635, 455

70819143636, 421

70819143637, 435

70819143638, %1

Question Number : 7 Question Id : 70819113220 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



36 AHET »E AHEE! oue Qua4, 5136 i 06 | HeT 99+ 2R 3 <0 fienr = ot & Mg few
dod §3 adt I w3 Quat {35 fiewr o ot & Ry A fa fy-24 9wt 3 95, Avadt &t 3 | 3T Gast
dara ©f a3t 7 1o IR 3 fienr i dud o

Options :

70819143635, 455
70819143636, 421

70819143637, 435

70819143638, 4!

Question Number : 8 Question Id : 70819113221 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
| ar—b
(x—1)(x—4)

Options :

Ify= has an extremum at the point (2, —1), then the values of aand b are:

70819143639, =1, b=0

70819143640, 2=0 b=1

70819143641, =0, b=-1

70819143642, 3= ~ L b=1

Question Number : 8 Question Id : 70819113221 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



e y=—2 P smfte -1 RamisIean3b 5T

(x—1)(x—4)
Options :

70819143639.

70819143640.
70819143641,

70819143642.

Question Number : 9 Question Id : 70819113222 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The distance between the planes ? {2.:'. [ ; Bk' +5=0 and ? I,b";" | ";; 6k| +2=01is:

Options :
2
70819143643, 13
15

70819143644, 4

70819143645, ¢

70819143646.

Question Number : 9 Question Id : 70819113222 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
55 7|20 +j-2k) +5=0 »3 T- (6743 —6k)+ 2= 0 Revara gt 7 -

Options :

70819143643, 13
70819143644, 4

70819143645, 9

70819143646.

Question Number : 10 Question Id : 70819113223 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
1

The pmbabilit}-' of snlving a pmhlem in Mathematics b}-‘ two students X and Y are Z and g

respectively. If both of them try to solve the problem independently, then the probability
that the problem will be solved by exactly one of them is equal to :

Options :

7
70819143647, 20

70819143648.

70819143649, 2U

70819143650.



12

20

Question Number : 10 Question Id : 70819113223 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 oo X3 Y 2 s & R i § o s & e s {1 T 1 AR
FHIRT & WUE-miE <91 5% I8 95 ©f oiHA 996 31 od' 99 e foa fefonradt <8 on ¥9
& srem T Y
Options :

7

70819143647, 20

20
70819143648.

19
20

70819143649.
b

70819143650, 2V

Question Number : 11 Question Id : 70819113224 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1+1 is equal to :

The polar form of the complex number
1—1

Options :

cos — + i sin—
” ”
70819143651. & =



cos % i sin%
70819143652. e B

cos — +1 sin—
70819143653, =

oS — — i sin—
70819143654. ' '

Question Number : 11 Question Id : 70819113224 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ﬁm%gﬁw-llfwuﬁﬁ@ﬁwaﬂ%:

1—1
Options :
cosz I z'sini
9 9
70819143651. e =
cos L { .'aini
9 9
70819143652. > =
COSE I fsini
70819143653,  * :
cos ® i Ein.E
70819143654,  * '

Question Number : 12 Question Id : 70819113225 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the equation of a line which divides the line segment joining the points (1, 0) and (3, 0) in
the ratio 2: 1 and is also perpendicular to it, is ax=7, then the value of a is equal to :



Options :

]

70819143655.

70819143656, -

70819143657.

70819143658, 1

Question Number : 12 Question Id : 70819113225 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e feg aur A fa fig (1L, 0)n3 (3,0) 2 i @ 8¢ unds 3 2: 1 migurs e <51 9 oS fem g

Bg 3 g, Gt AMiogs ax=79J | ST HE W J

Options :

I

70819143655.

70819143656, -

M

70819143657.

[==1

70819143658.

Question Number : 13 Question Id : 70819113226 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Equation of the circle, which is the mirror image of the circle 1%+ y>~2x=0 with respect to
the line x+y=2, is :

Options :



70819143659, ¥ TY?—2x+4y+3=0

"

X -+-L.r2----1x—2l,r-+-_1=[]

70819143660.

3] e ST I R TN
70819143661, 2"ty —x+y+1=0

2 A N T al
70819143662, ¥ TY T 2X 4y +3=0

Question Number : 13 Question Id : 70819113226 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gad, 7 fd T x+y=23 T99 22+ P — =0T TouE Yf3fae I, & miads 9 ;

Options :

70819143659, ¥ tY¥?—2x+4y+3=0

70819143660, * t ¥ —4x—2y+4=0

ST T, S G
70819143661, 2~ +ty) —x+y+1=0

LR R, T il
70819143662, © TY¥ 24y +3=0

Question Number : 14 Question Id : 70819113227 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(x+1)° U 1)

22 32

=1 and the circle

Equations of the common tangent of the ellipse
(x+1)2+(y—1)>=4 are :

Options:



70819143663, ¥*+3=0 and x=1=0

70819143664, * > =0 and y+1=0

70819143665, ¥ t3=0 and x—1=0

y+3=0 and y—1=0
70819143666.

Question Number : 14 Question Id : 70819113227 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ety 24 UL — g oy g (v 124 (g~ 12 =4 0 o s et s

3_

5 |
Options :

70819143663, ¥ 13=03 x—1=0

70819143664, *—3=0 S y+1=0

70819143665, *+3=0n3 x—1=0

y+3=0m3 y-1=0
70819143666.

Question Number : 15 Question Id : 70819113228 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i 1 a
If A= {” J , then Ak (keN) is :

Options :



70819143667.

70819143668.

708191436609.

1 ka
0 0
70819143670.

Question Number : 15 Question Id : 70819113228 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d

. 1
"Eg A=
[[1 1

] FT Ak (keN) T :

Options :

70819143667.

70819143668.

k ka
0 k

708191436609.

1 ka
0 0
70819143670.



Question Number : 16 Question Id : 70819113229 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The values of s and t, for which the system of equations
.1'1 + .1'2 + .1'3 =5
Xy +2x,+3x,=9
xy+3x;+sx3=t

has no solution, are :

Options :

70819143671, S=2 t=13

70819143672, S#5

70819143673. °

70819143674.

Question Number : 16 Question Id : 70819113229 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
swS t T U®, ey &2t AHtaes y=at
Xy +x,+x3=5
xy+3x, +sx;=t
% o 98 &t J
Options:

70819143671, =2, t=13

70819143672, S*5

70819143673, S=2 =13



70819143674, 1# 13

Question Number : 17 Question Id : 70819113230 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. b 4 1 2x ) 3 | i 1 ( 2x )
Derivative of tan ‘ 5 | with respect to sin 5 | in (1, ), is:
k.] . k_1 | _l"',J
Options :
70819143675,

70819143676. ~ !

70819143677.

2

70819143678.

Question Number : 17 Question Id : 70819113230 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i 2% s —— 2y | o % i

51111‘ j‘EETEE.'taml[ lj‘?%eaﬁ.tﬂhmﬁ{l,xjmﬁaaz
L 1+x ) % ot 0

Options:

70819143675. :

70819143676, ~ 1

70819143677, ©



2
70819143678. ~

Question Number : 18 Question Id : 70819113231 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
‘C‘ )
=T=1. If axlaxc/+b=0,then

T N —. ¥ —_ — —_ =

—5 —5
Let a, b and ¢ be three vectors such that ‘a‘:

b

—

o
the acute angle between a and ¢ is:
Options :

am

&)

70819143679.

NE

70819143680.

o
q

70819143681.

5w
12
70819143682.

Question Number : 18 Question Id : 70819113231 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

~l

=1. H&H;x*gxz' | E—HE{?

= .—\. —3 H.—> ] —— —
oot fiateeg a, b3 ¢ BAT ‘a‘= b

I:\J|

g A o
ans c fRea s az v :
Options :

70819143679.



o3

NE

70819143680.

m
3

70819143681.

s
12
70819143682.

Question Number : 19 Question Id : 70819113232 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Solution of the differential equation (1 +y*)dx = (tan~ly—x)dy is :
(where c is an arbitrary constant)

Options :

) -1 tan 'y
70819143683, ¥~ 1 tan ytce

1

y=tan "y—1+ ce tan x

70819143684.

- -1 —tan '13.;
70819143685, X wan y-ltce

70819143686.

Question Number : 19 Question Id : 70819113232 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fseufmm miaas (1+y7)dx=(tan" ly—x)dy & 35 T :
(fFg c =t =t nies )

Options :

tan "y

i -1 -
70819143683, | tan ytce

15— 1 : tan 1x
70819143684, /=N Y- 1t ce

. -1 --tin_'lj.l.r
70819143685, *@an y-ltce

70819143686.

Question Number : 20 Question Id : 70819113233 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

y ) ; — .z:l .z.:_ ' .
The values of x, for which the vectors a = (x>~16)i+4 j— (x*~25)k make acute angles with

the (positive directions of) coordinate axes lie in :
Options :

70819143687, | > ~4 v 4. 5]

70819143688, |2 4) v (=4, 5]

70819143689, (7> ~4) Y & 9)

70819143690, (>4 (—49)

Question Number : 20 Question Id : 70819113233 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T 25T a = (2 -16) 114 - (v2-25)k Tfmit St T femrer o f5Es dE mEE Y, Fe o
1 1% fon feg J=ar
Options :

70819143687, L2 ~4l w14 5]

70819143688, |2 4) = (=4, 5]

70819143689, (72 ~4) W (1 5)

(=5, 4) U (—4,5)

70819143690.

Mathematics Section B
Section Id : 708191459
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191739
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819113234 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

dx 1s
2

=

Tj |1+ cos2x
i)
uﬁ"l



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819113234 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

™ 11+ cos2x
LJ'— dx T
0

3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819113235 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum value of 9tan20 +4cot20 is

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 22 Question Id : 70819113235 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Otan?@+4cot?d T G8&SH W T |

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819113236 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

%
The length of the perpendicular from the point (1, 2, 3) to the line = =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819113236 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

. s —X+6 y-7 z-7 .,
fag (1,2 3) 3 o T@EgESEE T

3 2 2

= e

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819113237 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

L1
| are in Arithmetic Progression, then the value of x is

' /
If log 2, log, (2 ~5) and logs| 2*
' ' g - /

2 | =1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819113237 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3153 log, 2, log, (2 5) 103;5( 2% %J visastsa sat o 9, 3y T
J 1

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 25 Question Id : 70819113238 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

¢ y 2

If x2+x+1=0, then J{I i|2 | | £2
x)

|\

Response Type : Numeric

4 22
||r;,_j i\ l 15
RN g

1
x2

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819113238 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

.aly

Jag 22 +x+1=0, 3¢ J|rx llelrxz
l~ x )

Response Type : Numeric

1
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819113239 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

22 +y?—4x—2y—-11=0 is a circle to which tangents are drawn from the point (4, 5) which
form a quadrilateral with a pair of radii. The area of this quadrilateral in square units is

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819113239 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

fie (4, 5) 3 909 22 +y2—4x -2y 11=0 3 mign ut fifonlt st 5 7 fa wiaw fommm € W3

&% fEq 93099 sg e 76 | 3% 93990 © U39es (Fad feaem fB9) . T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819113240 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the sum of mean and variance of a binomial distribution is 15 and the sum of their squares
is 117, then the number of independent trials isequal to .

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 27 Question Id : 70819113240 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

HeG T R S5 T HOHG WS YRGS @ nF 15 I 03 fegst € Ter & 77 117 T | 5T F339 o
(cofesh) e foest T

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819113241 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let the equation of the plane passing through the points (1, 2, 6), (2, 5, 7) and perpendicular

to the plane 4x—y+z=15be ax+by+cz+d=0. Ifa, b, ¢, d= Z with ged (|a|, |b, |c|)=1,
then |at+b+c+d|isequal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819113241 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Ho B8 fea 35 e milaes ax +by+cz+d=03, 7 3 g (1,2,6), (2,5,7) =8 Bt I3 38
Ax-y+z=153 #3 J | ¥a9 a, b, ¢, deZ & HAZ (a, b, |d)=1, 3T [a+b+c+d| ==
T

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819113242 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

dr 7w .,
The number of real solutions in the interval [ ' -‘ of the equation 4sin“x — 8sinx + 3=1

15

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819113242 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
[ 3z 7=

WITH { 7,71 fe9 AHtads 4sinfx —8sinx+3=0 € =E3fea d&t & fazst

|

_d
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 30 Question Id : 70819113243 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1 1 10

Let Aj, Ay Ay o be an increasing geometric progression. If T4 h &
AA =441, then 3(A,+A;)isequal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819113243 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1.4,

and

He B8 A, Ay, A,, ... 8% Juet fawfest &3t 3 1 dag Lt =5 »3

Ay Ag 63
AA, =441, FE3(A+A)TET T |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Aptitude Test



SectionId : 708191460
Section Number : 3

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 708191740
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819113244 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which among the following is the full form of the “‘UNESCO" ?

Options :

70819143701. United Nations Educational, Scientific & Cultural Organization.

70819143702, United Nations Educational Sc-curit}-' Cultural Drgani_zatifm.

70819143703, United Nations Entrance Site Calling Organization.

United Nations Educational, Sustainable & Cultural Organization.
70819143704.

Question Number : 31 Question Id : 70819113244 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= P o fal

95 &3 9 fagam 'UNESCO’ (gdrAa) & YT @9 (Full form) &1 T |




Options :

70819143701. L Elies aren EAHOS, AfEfesta (scientific) »iZ THU9® MAAGEIHHG

70819143702, GETE eS 3HaH PHoHes HIdGIge! aBues MadaTEHEs

20819143703, FOEICS SHAH EGSUR HIEIC Sitdl MadieTeltims

ies aHed Tge < - MFIETE THG
70819143704, T Ciics OFoed Efclliad HHCAEE M3 ABOIS :

Question Number : 32 Question Id : 70819113245 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1

(I)  Hall of Nation (a)

(II) Falling Water, Pennsylvania (b)

(IIT) Petronas Tower (©)
(IV) Secretariat (d)
Options :

20819143705, D-{), (ID-(@), [D-(d), (IV)-(c)

20819143706, D-(0), (ID-(d), (D-(a), (IV)-(b)

20819143707, D@, (ID-(b), (D)-(c), (IV)-(d)



20819143708, OBy (Ha), (<), EV)Ld)

Question Number : 32 Question Id : 70819113245 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gt 18 gt 1l && fisge a9

got - 1
(I) T e 36 (a)
(I) efoarTTed, USHSBSAHT (b)
(II) U&= (c)
(IV) AZa33 (d)

Options :



70819143705, (D-(b), (I)-(a), (ID)~(d), (IV)-(c)

20819143706, D-(©), (ID-(d), (IT)~(a), (IV)-(b)

20819143707, 0@, (I)-B), (D-(<), AV)-(d)

20819143708, 9P (IHa), (<), (VHd)

Question Number : 33 Question Id : 70819113246 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11
(I) Kamru (
(II) Delhi ( Badrinath Temple
(IIT) Fatehpur Sikri (c) Khirki Masjid
(IV) Kolkata (d) Buland Darwaja

a) Victoria Memorial Hall
)

Options :

20819143709, Wb}, (ID)-(c), (HD-(d), (IV)-(a)

20819143710, D-(b), (ID-(d), (I)-(c), (TV)-(a)

20819143711, D), ()-(a), (D)-(b), (IV)-(d)

70819143712. (D-(b), (I)-(a), (ID)-(d), (IV)-(c)

Question Number : 33 Question Id : 70819113246 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



ot 13 gat 1l &s fusts ag|

get - 1 get - 11
(I) THg (a) Teoedhr Idnie T3
(I fost b) sedemy g
() =fous et (o) fasel wAfie
(IV) a&as (d) =®e To=w
Options :

70819143709, W(b): (I)-(c), (IID-(d), (IV)-(a)

70819143710, (D-(b), (ID)-(d), (I)-(c), (IV)-(a)

20819143711, D), ()-(a), (ID)-(b), (IV)-(d)

70819143712. (D-(b), (I)-(a), (HID)-(d), (IV)-(c)

Question Number : 34 Question Id : 70819113247 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1 List - 11

() Agra fort (a)
(II) Atala Masjid (b)
(Il Nalanda University (c)
(IV) Jagannatha Temple (@
Options :

20819143713, D-(b), (ID-(c), (ID)-(a), (IV)-(d)

70819143714, (D-(a), (ID-(b), ([TD-(c), (IV)-(d)

70819143715, 1), (D-(a), (ID-(d), (IV)-(b)

70819143716, W) (ID-@), ([I)~(c), IV)-(d)



Question Number : 34 Question Id : 70819113247 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
got 13 gt 1l &® fHo's a9

get - 1
(D e foey (a)
(I) wewr WAfaE (b)
(1) a%er fane fefonmas (c)
(IV) #deeE Hieg (d)
Options :

70819143713, M=), (I)-(¢), (D)-(a), (IV)-(d)

70819143714, (D), (ID-(b), ([D)-(c), (IV)-(d)



70819143715, M9 (D-(@). (I1D-(d), (IV)-(b)

70819143716, O(P) (1)-@), (D-(c), (TV)«(d)

Question Number : 35 Question Id : 70819113248 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II.

List - 1 List - 11
(I) Yadvindra Garden (a) Manali
(II)  Vishnu Temple (b) Amritsar
(III) Hidimba Temple (c) Pinjore
(IV) Hari Mandir (d) Bunivyar
Options :

70819143717. (D=(c), (IT)-(d), (IID)-(b), (IV)-(a)

70819143718, (D-(©), (I)-(d), (ID)-(a), (IV)-(b)

70819143719, D-(d), (I)-(b), (ITD-~(c), (IV)-(a)

70819143720, (D-(b), (I)-(d), (M)-(a), (IV)-(c)

Question Number : 35 Question Id : 70819113248 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



gt 13 gat 1l &® fuse 59|

geit - 1 Het - 11
1) e Trdss (a) He®
() femg Hfes (b) rwifiEAT
(IIT) afs=r Higs () fie
(IV) odt sifes (d) gfonrg
Options:

70819143717. (D-(c), (II)}-(d), (IID)-(b), (IV)-(a)

70819143718, (D-(©). (I)-(d), (IID)-(a), (IV)-(b)

20819143719, (D-(d), (ID)-(b), (LD)~(c), (IV)-(a)

70819143720, (D-(b), (I)-(d), (M)-(a), (IV)-(c)

Question Number : 36 Question Id : 70819113249 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11.

List - 1 List - 11
(I)  Mehrangarh Fort (a) Hyderabad
(II)  Siri Fort (b) Kolkata
(IIT) Golconda Fort (c) Delhi
(IV) Fort William (d) Jodhpur

Choose the correct answer from options given below :
Options :
70819143721. (D-(a), (M-(d), (ID-(b), IV)-(c)

20819143722, (D-(d), (ID)-(c), (II)-(a), (IV)-(b)

70819143723, (DA, (1)-(c), (ID)-(b), (IV)-(a)



20819143724, 9@ (D-(b), (D-(d), (IV)-(c)

Question Number : 36 Question Id : 70819113249 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
get 1§ got 115 fioe a9 |

et - 1 get - 11
0 roea fao; (a) dvTEY
() fAet fom (b) SHeET
() TS T (c) fo=t
(IV) fefemn = fae; (d) oy
I &3 feamut & Aat B39 539 -
Options :

20819143721, (D-(@), ()-(d), (ID)-(b), (IV)-(c)

20819143722, (D), (ID-(c), (ID-(a), (IV)-(b)

70819143723. (D)=(d), (IT)=(c), (ID)=(b), (IV)-(a)

20819143724, 0@ (ID-(b), (ID)-(d), (IV)~(c)

Question Number : 37 Question Id : 70819113250 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Book ‘God of small things’ is written by which Indian Architect ?

Options :

70819143725, B-V- Doshi

70819143726. Arundhati Roy



20819143727, Revali Kamat

70819143728, Dimal Patel

Question Number : 37 Question Id : 70819113250 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

faz ‘33 e AN® faam” Tags 3793 & nirdalede e=rar o gt o ¢

Options:

70819143725, H-<- =HI

70819143726, 90Tt T

70819143727.

70819143728, [EHE U

Question Number : 38 Question Id : 70819113251 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Tharokha’ is a type of window mostly found in :
Options :

70819143729, Cwjarat

70819143730, 'Vest Bengal

70819143731, lamil Nadu



70819143732, Rajasthan

Question Number : 38 Question Id : 70819113251 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘sour § B fapH = fugdr 9, fBst &9 fap 99 &9 e uet g9t O 2

Options :

70819143729, IHIS

70819143730, UEHI HaT

70819143731. -

70819143732.

Question Number : 39 Question Id : 70819113252 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The monsoon wind enters in Indian sub-continent from which direction ?

Options :

70819143733. MNorth-West side

20819143734. South-East side

70819143735, North side

70819143736, South-West side



Question Number : 39 Question Id : 70819113252 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hegs o= fag=t fer <8 3793 Qu Aoy R9 Y=g awet 3 7

Options :

70819143733, | e IR

70819143734, THE U9H % UH

70819143735, &30 =8 UH

70819143736, THe UEH W UH

Question Number : 40 Question Id : 70819113253 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the fnllowing buﬂding represents the colonial Architectural pattern in India ?

Options:
70819143737, Bharat Bhavan in Bhopal

70819143738 LIC Buﬂding in Delhi

70819143739. Charminar in Hyderabad

T s ; 9 - i i
20819143740. Victoria Memorial in Kolkata

Question Number : 40 Question Id : 70819113253 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

J5 &3 139 foodt fonas ‘arsiew (a@a®) niedlcaDy’ 291 § ydie dJel J ¢
Options :

70819143737, 293 =0 ~IUH

70819143738, B MELHL fewes ~foat

70819143739, 9 A9 ~JETEE

70819143740, ST HHfon s —amas

Question Number : 41 Question Id : 70819113254 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the size of A2 Drawing sheet ?

Options:
20819143741 420 % 590 (mm * mm)

70819143742, 207594 (mmx mm)

70819143743, 297420 (mm x mm)

20819143744, 420592 (mm > mm)

Question Number : 41 Question Id : 70819113254 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A2 39fEa Aiz T af HU 97 U (mm= Hi®hiteg) ?
Options :
20819143741, 20590 (mm > mm)

70819143742, 20>¢594 (mm > mm)

70819143743, 297420 (mm> mm)

70819143744. 420 x 592 (mm X mm)

Question Number : 42 Question Id : 70819113255 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Victory Tower belongs to which of the following fort :
Options :

70819143745, Chittor fort

70819143746, Jaigarh fort

70819143747, Bhangarh fort

70819143748, ‘vmer fort

Question Number : 42 Question Id : 70819113255 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘fegedt g=q’ faod I oy o8 &% Aeus U ¢

Options :



70819143745, (557 € 6%

70819143746, 0% T 19

70819143747, F00% T 1o

g = famr
70819143748. B

Question Number : 43 Question Id : 70819113256 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which amongst the following Architect has designed the famous Temple “Akshardham” ?
Options:
70819143749, Sanjay Puri

70819143750, ¥ ikram Lall

70819143751, “ishok Lall

70819143752, = “ompura

Question Number : 43 Question Id : 70819113256 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
feat o5 fauz madicae 8 HAZT ¥ifed “namauy™ fsarfes ez T ¢

Options :

70819143749, Al udl



70819143750, [S9OH &

o
70819143751, A 86

At. AHuDT
70819143752.

Question Number : 44 Question Id : 70819113257 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“Volume Zero” Documentary is on which Architect ?
Options:

70819143753. Charles Correa

70819143754. Richard Mier

70819143755, Jasbir Sachdev

70819143756. Ranjit Sabliki

Question Number : 44 Question Id : 70819113257 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘TETH Hi9’ ERIedr faa3 widdicae © 99 o ¢
Options :
70819143753. 5T j

70819143754,



70819143755.

70819143756, S0TIS HISH]

Question Number : 45 Question Id : 70819113258 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Agenda 21" is declaration related with :
Options :

Climate change

70819143757.

70819143758, Clobal warming

70819143759, Suslainable dr_-velnp ment

70819143760, Smart city

Question Number : 45 Question Id : 70819113258 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

‘ersT 21 & unE fan &% Fus J 7
Options :

70819143757, HAH F8€®

70819143758, TH® STHIHG

708191437509. '



70819143760. e et

Question Number : 46 Question Id : 70819113259 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gold mines are situated in which state of India ?
Options :

70819143761. Karnataka

70819143762, Orissa

70819143763. Maharashtra

70819143764. Uttar Pradesh

Question Number : 46 Question Id : 70819113259 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& ot yiat, 993 © fags 99 <o pfag 98 ?
Options :

70819143761, 907

70819143762, ~

70819143763, HIIHET

70819143764. = i



Question Number : 47 Question Id : 70819113260 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
In the Southern Hemisphere shadowless light is from which direction ?
Options :
70819143765, North

70819143766, Ocuth

70819143767, Cast

70819143768, Vest

Question Number : 47 Question Id : 70819113260 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

THE Jn'd feg Udee 9id3 9Fal aogt e 3T wEer T ?

Options :

70819143765. =

70819143766.

70819143767, 297

70819143768, ~&=1

Question Number : 48 Question Id : 70819113261 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
The first Indian Architect who has won Pritzker Prize in 2018 is :
Options :

i _
70819143769, 0-V- Doshi

70819143770, Laurie Baker

70819143771, @i Rewal

20819143772 Ach}-'ut Kanvinde

Question Number : 48 Question Id : 70819113261 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fargaT ufowr gvast mrdalitcae firg fuenmaa uarara 2018 feg fifsnr |

Options :

70819143769, S-=1. =HI

70819143770, OO 5O

70819143771, O 959

70819143772. 983 Fsiee

Question Number : 49 Question Id : 70819113262 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Word “ Bungalnw" has nriginatc-d from :



Options :

70819143773, Bengalurm

70819143774, banaras

70819143775, bengal

70819143776, Bari

Question Number : 49 Question Id : 70819113262 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Options :

70819143773, -9

70819143774. E

[

70819143775.

70819143776, 91

Question Number : 50 Question Id : 70819113263 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The IIM - Ahmedabad is designed by which of the following Architect ?
Options :

70819143777. Laurie Baker



70819143778, Louis Kahn

70819143779, Lutyen

70819143780, Le Corbusier

Question Number : 50 Question Id : 70819113263 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
‘ot wret wie” mifqueee 98 8y faoz wigdlicae @ fearfes ez 9 2

Options:

70819143777, B9l 5o

20819143778, T8 &0

70819143779, 20

70819143780. Bl -SEHIMS

Question Number : 51 Question Id : 70819113264 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the given figure, how many squares are present ?

Options :



70819143781, 14

70819143782, 13

70819143783, 12

70819143784, 18

Question Number : 51 Question Id : 70819113264 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o3 g 939 <9, 9% fda =9a ige &2

Options :

70819143781, 14

70819143782, 13

70819143783, 12

70819143784, 18

Question Number : 52 Question Id : 70819113265 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A drawing is provided with all the folds to construct the following three Dimensional object.
Select the correct one.

Options:
I ]
1 |
70819143785.
I
I
70819143786.
.
_I .-
| |
70819143787.
I | |
70819143788. ]

Question Number : 52 Question Id : 70819113265 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Safed A e®st ¥ &% o3t aet I sy a1 Ja 183t s wamdt 3-8t @z = fsawz alis 9 1 At
BT ;|

Options :
I —
1 |
70819143785.
I
I
70819143786.
-
_I .-
| |-
70819143787.

70819143788.



Question Number : 53 Question Id : 70819113266 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct view looking in the
direction of arrow, amongst the answer figures.

- DE O
Options :

A
708191437809.

N
70819143790.

Il
70819143791.

70819143792.




Question Number : 53 Question Id : 70819113266 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ae 939 fon erg o ot o fem fowr foor 9 | ey 9" uee faogr wem fo3 fem =rg o At

€ DE 0
Options :

A
708191437809.

A |
70819143790.

\
70819143791.

70819143792.



Question Number : 54 Question Id : 70819113267 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer i’igures Iooking in the direction of arrow.

—
I

Options :
70819143793.

L
70819143794.

[ 1
70819143795.

70819143796.



Question Number : 54 Question Id : 70819113267 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e fu39 fan @mg = 9t © fom few foor 9 | fist 159" uee foomr wee fos fem emg & rove
= fer(wders) fewSer 3, 7 6% Sto &t few <8 ohor e

=
I

Options :
70819143793.

L]
70819143794,

[ ]
70819143795.
70819143796.

Question Number : 55 Question Id : 70819113268 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

>

T

Options :

70819143797.

70819143798.

70819143799.

70819143800.

Question Number : 55 Question Id : 70819113268 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



e o34 R @Ag & g¢l © fen few fqor 9 | st 8" uee fooer mie fo3a fem 2rg @ rrowe
 feridiems) few@e 9, 7 8m ST & fomr <8 Sfor Frar

T

T

Options :

70819143797.

70819143798.

70819143799.

70819143800.

Question Number : 56 Question Id : 70819113269 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



One of the ollowing answer fig_ures is hidden in prohlr_-m figurc- in same size and direction.
Select correct one.

Options :
70819143801. >
70819143802. D
70819143803. v
70819143804, ﬁ

Question Number : 56 Question Id : 70819113269 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
75 fc3 7es fos9' fou aet foa res fose fRa sfanr dfowr 7, 8R wu v GF forr 551 mdt 7o

9z |

Options :

70819143801. §



70819143802. D
70819143803. ;
70819143804. ﬁ

Question Number : 57 Question Id : 70819113270 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in problem figure in the same size and direction.
Select correct one.

Options :

70819143805.

70819143807.

W
70819143806. Q
0
N

70819143808.



Question Number : 57 Question Id : 70819113270 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
J5 o3 7o fosat feu aet fo pews fo3g oo sfomr 3fewr 3, €1 vuns € fowr G911 Aot 7o

ge |

Options :

70819143805.

70819143807.

W
70819143806. Q
0
N

70819143808.

Question Number : 58 Question Id : 70819113271 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

One of the [ ollowing answer figures is hidden in the pmhlc-m t’igurr_- insame size and direction.
Select the correct one.

Options :

708191438009.



N

70819143810. i
70819143811. :

70819143812. D

Question Number : 58 Question Id : 70819113271 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
75 o3 o8 o397 feu ol fea e 939 fog ®fonr dfenr 7, B8R wu ne BF fom &9 Adt 7o

gz |

Options :

708191438009.

70819143811.

N
A
>

70819143812.



Question Number : 59 Question Id : 70819113272 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in same size and direction.
Select the correct one.

Options :
70819143813. D
70819143814. D
70819143815. O
70819143816. f

Question Number : 59 Question Id : 70819113272 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

75 3 e o391 fos ot e pew foza oo wfomr Ifowr 3, 8F vu w3 B fow B9 At wes
gz |

Options :

70819143813. D



70819143814. D

70819143815. O

70819143816. #

Question Number : 60 Question Id : 70819113273 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the answer t’igures is correct mirror image of problc-m figuro with respect to
X-X?

X
O
[]
X
Options :
]
70819143817.

70819143818.



]
[l
]
70819143819,
[
[]
70819143820,

Question Number : 60 Question Id : 70819113273 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g A=s fo39, yms fogg o mdt Bty 129 foy foor fose (ySifde) 9, X XEwaa 3 ?

X

O




Options :

70819143817.

70819143818.

70819143819.

70819143820.

Question Number : 61 Question Id : 70819113274 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Which one of the answer figuros is the correct mirror image of the problom t’iguro with
respect to X-X ?

N\
A

N/
(D)
@J

AON
NZ;

70819143824.



Question Number : 61 Question Id : 70819113274 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

forgaT A= fuse,ums 39 © Aat By {29 foy fagr fose (ysifee) 9, X XEwag 32

A

Y

X X

Options :

70819143821.

D)
N

70819143822.

P,

Ao

70819143823.

0N
N2

70819143824.



Question Number : 62 Question Id : 70819113275 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X?

7 X
Y/INN

/
N\ X
Options :
N
L /N\Y
N\
70819143825. /
N
NV
N\
70819143826. /
N
P
N/
70819143827. /[\

70819143828.



N4
AN

Question Number : 62 Question Id : 70819113275 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

g Ae fo39, ums foso o mat fin <5 foy foor foso (ystfee) 3, X XT wog 3 2

/ X
VIR
/
% X
Options :
o
NV
N
70819143825. /
N
NV
o
70819143826. /

70819143827.



/N

70819143828.

Question Number : 63 Question Id : 70819113276 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures complete the sequence of the problem figure ? Select the
correct one.

Options :

70819143829.

70819143830.

70819143831.



N
S

70819143832.

Question Number : 63 Question Id : 70819113276 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

foozr 7ers 939, Aew 939 € gy & U9 g9ar? A A= B2 |

Al

Options :

74
70819143829.
70819143830.
70819143831. |

70819143832.



Question Number : 64 Question Id : 70819113277 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819143833.

70819143834.

70819143835.

70819143836.



Question Number : 64 Question Id : 70819113277 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

351 fo3g fan emg & fem fowr foor 9 | foow e 1939, fon <R3 o At fom few@e 3, 7 B8R
319 € fomr <8 eftmr wan|

/!

Options :

70819143833.

70819143834.

70819143835.

70819143836.



Question Number : 65 Question Id : 70819113278 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

3

/!

Options :

70819143837.

70819143838.

708191438309.



70819143840.

Question Number : 65 Question Id : 70819113278 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

351 foze fan ez & fom fowr foor 3 | foor e T3, fem emg o ndt fom few@er 9, 68
Fi9 & fopr &8 Thtmr F=er

3

/ﬂ

Options :

70819143837.

70819143838.



708191438309.

70819143840.

Question Number : 66 Question Id : 70819113279 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

4

Options :

70819143841.

70819143842.

70819143843.

70819143844.



Question Number : 66 Question Id : 70819113279 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

351 fozv fon =g = fem few foor T | foow vere o9, fememg o rdt fem few foor 3, A B2
319 € fer <8 < T

Options :

70819143841.

[ ]

70819143842,

70819143843.



70819143844.

Question Number : 67 Question Id : 70819113280 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/Z

Options :

70819143845.

70819143846.

70819143847.

70819143848.



Question Number : 67 Question Id : 70819113280 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

351 39 fan ez = fem fowr foor 9 | fooer vee fo3s, fer amg o mdt fom fow foor 9, A 6R8
39 & fogr <% it gear|

/ﬂ

Options :

70819143845.

70819143846.

70819143847.

70819143848.



Question Number : 68 Question Id : 70819113281 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

70819143849.

70819143850.

70819143851.

70819143852.

Question Number : 68 Question Id : 70819113281 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

351 fd39 fan eng = fom fowr foor 9 | faoar were o9, fon eng o Rdl fem few foor 9, 7 6m
319 ©f foFr <5 ofinr A=ar |

/

Options :

70819143849.

70819143850.

70819143851.

70819143852,

Question Number : 69 Question Id : 70819113282 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819143853.

70819143854,

70819143855.

70819143856.

Question Number : 69 Question Id : 70819113282 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



351 faz9 fan ez o fop fowr foor 9 | foogr were O34, fenamz @ At fem few@er 3, 7 BR3
319 o ferr 38 Tftmr Frear

/

Options :

70819143853.

70819143854,

70819143855.

70819143856.

Question Number : 70 Question Id : 70819113283 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819143857. '

70819143858.

70819143859.

70819143860.

Question Number : 70 Question Id : 70819113283 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



351 fa39 fan 2ng = fom few foor 9 | fooar e fU3q, fon a3 @ At fem fewfer O, W EM
319 & fomr @8 oher aear

Vi

Options:

70819143857. '

70819143858.

708191438509.

70819143860.

Question Number : 71 Question Id : 70819113284 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/I

Options :

70819143861. —I

70819143862. l

70819143863.

70819143864.

Question Number : 71 Question Id : 70819113284 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3-51 {939 fan <pg @ fop fowr foor 9 | faoa meme fusq, fer @z o At fom fow€er 9, 7 BR8
319 o femr 28 oftmr F<ar |

/

Options :

70819143861. —I

70819143862. )

70819143863.

70819143864.

Question Number : 72 Question Id : 70819113285 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

y

4

Options :
L]

70819143865.

L]
70819143866.
70819143867. I:l

L]

70819143868.

Question Number : 72 Question Id : 70819113285 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

33t 1939 far =m3 o fon four foor 3 | fooa meme fo3q, fem oR3 o At fem few@er 3, A €M
319 € femr <5 i A=ar |

y

Options :

70819143865.
70819143866.
70819143867.

70819143868.



Question Number : 73 Question Id : 70819113286 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options :

|
70819143869. | |

|
70819143870. | I
70819143871. | l

||
70819143872. |

Question Number : 73 Question Id : 70819113286 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

3-8t fd39 fo 23 = fom fewr foor 3 | fooF vee 39, fen amg e At fem fow@er 3, 7 8M
319 & femr <5 <o /12

Options :

|
70819143869. | |

|
70819143870. | |
70819143871. | I

||
70819143872. |

Question Number : 74 Question Id : 70819113287 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819143873.

70819143874.

70819143875.

70819143876.

Question Number : 74 Question Id : 70819113287 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



35t fisg foR e T fem few foor I | oo e o', femomg o rdt fem fowr foor 3, 68
9 € femr 8 eftmr A=ar

/l

Options :

70819143873.

70819143874.

70819143875.

70819143876.

Question Number : 75 Question Id : 70819113288 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819143877.

70819143878.

70819143879.

70819143880.

Question Number : 75 Question Id : 70819113288 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3351 fuzT fon dw o fepfow foor I | oot fo5 faue 7oe fig, feR ol ord Sdt o fop fewr
fgar T

Options :

70819143877.

70819143878.

70819143879.

70819143880.

Question Number : 76 Question Id : 70819113289 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819143881.

70819143882.

70819143883.

70819143884.

Question Number : 76 Question Id : 70819113289 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3t fozg fom ot o fog fowr faor I 1 fist e foaar mem fuige, fom dw o it 98 & fom fowr
faor T

Options :



70819143881.

70819143882.

70819143883.

70819143884.

Question Number : 77 Question Id : 70819113290 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the
answer figures.

Options :

70819143885.

70819143886.



=

70819143887.

=

70819143888.

Question Number : 77 Question Id : 70819113290 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3-51 39 fam dim o fog four foor I | st fo8 Tz e fisa, femdtg o dt 961 & fom four
fggr T

Options :
70819143885.
70819143886.

70819143887.



=

=

70819143888.

Question Number : 78 Question Id : 70819113291 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identifj.,-' the buﬂding compositions of having less visual tension amongst the fo[lnwing figurcs.

(A) (B)
(€ (D)
Options :

70819143889, () and (B)

(B) and (C)
70819143890.

70819143891, (©) and (D)

70819143892, (P) and (&)

Question Number : 78 Question Id : 70819113291 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

s

UE'E 99, 76 fo3t faaat forast auste 29 ovs Aadt (Visual) W2 352 7 72

(A) (B)
(©) (D)
Options :

70819143889. £ Pt

70819143890. s o)

70819143891, (&) ™= (D)

70819143892, (D) 73 (&)

Question Number : 79 Question Id : 70819113292 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problom f igure shows the top view of an ohjoct. Idonti_f}-' the correct elevation amongst
the answer figures looking in the direction of arrow.

v vi— O
v —54
Options :

70819143893.



70819143894.

70819143895.

70819143896.

Question Number : 79 Question Id : 70819113292 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

As fo39 fon og v 92t © fop fow foor T | 5T fo8° vz fooz 7ew fos9, fer s T Ao
 fom (wdftems ) feur foor ©, 31 B Sto & femr <8 oftmdt e |

Options:

70819143893.

70819143894.

70819143895.

70819143896.



Question Number : 80 Question Id : 70819113293 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The prohlom f igure shows the top view of an ohjoct. ldontif}-' the correct elevation amongst
the answer figures looking in the direction of arrow.

[
\

Options :

70819143897.

70819143898.

2 2 4

70819143899.



70819143900.

Question Number : 80 Question Id : 70819113293 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e o33 fon @rg & 92 © fom few foor 7 | st 199 uee fooer wee fosm, fem v © Ao
T fen (Wiems ) few@er 9, 7 8 319 € femr &8 tfr Arear |

[\
V

Options :

70819143897.

70819143898.

70819143899.



70819143900.

Planning
SectionId: 708191461
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191741
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819113294 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these industries did not exist in London before the first world war ?



Options :

70819143901, Automobile

70819143902, Clothing and Textile

70819143903, Lrinting

70819143904, Iron and Steel

Question Number : 81 Question Id : 70819113294 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ufgs fene o 2 ufgs B35 39 fao3 a9us 591 °AG 7
Options :
70819143901, 1< 51

70819143902, 74 feni fiet

70819143903, & 4HaT

70819143904, &d #3 ACIS

Question Number : 82 Question Id : 70819113295 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A carbon footprint is the amount of ____ released into the atmosphere.
Options :

70819143905, IVitrogen



70819143906, Greenhouse gas

70819143907, ©zone

70819143908, Suspended Particulate Matter (SPM)

Question Number : 82 Question Id : 70819113295 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H3T f29 (9 H3T) 3 77 T8 |

Options :

3

70819143905, © %

70819143906, 916 JTSH TH'

70819143907, "6

I {29 B2 9 (SPM)

Al

70819143908.

Question Number : 83 Question Id : 70819113296 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A. KodaiKanal
Kullu
Mount Abu

Panch gani

Mg N w

Pahalgam
Arrange the above hill stations in the correct sequence from south to north in India.
Choose the correct answer from the options given below :

Options:



70819143909, E7D—=B—- A= C

70819143910, E7B—-C—=D—aA

70819143911, € A —-B—D—E

70819143912, A 7 D= C—B—E

Question Number : 83 Question Id : 70819113296 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
J& fedt yam=t Afge’ & At 393ty &9 2ue 3 639 98 5are

= (=]

=

9B

C. wWgenry
D. Ygaret
E. yfg@arH
Options :

70819143909, E7D—=B—-A—=C

70819143910, E7B—-C—>D—A

70819143911, ¢ > A—=B—=D—>E

70819143912, A 7D —=C—=B—E

Question Number : 84 Question Id : 70819113297 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Planning Commission in India has been replaced by :
Options :
70819143913, Mo HUA

70819143914, VITT Aayog

70819143915, NIUA

70819143916, FHL

Question Number : 84 Question Id : 70819113297 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

THS WA S 3 93 fag 5v8 o
Options:

70819143913, Mo HUA

70819143914, 0131 #TAdl (NITI Aayog)

70819143915, NIUA

70819143916, FHL

Question Number : 85 Question Id : 70819113298 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When was the spr:-cial Economic Zone’s Act enacted in India 7?7

Options :



70819143917, 2005

70819143918, 2007

70819143919, 2009

70819143920, 2011

Question Number : 85 Question Id : 70819113298 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ferw »rafaq ¥39 T aga 9793 49 fan ws fag g dfewr 2

Options:

70819143917, 2005
70819143918, 2007

70819143919, 2009

70819143920, 2011

Question Number : 86 Question Id : 70819113299 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the full form of NHAI ? Choose the correct answer.

Options :

70819143921, National Horticulture Association of India.

70819143922. National Heritage Authority of India.



70819143923, National Hydroelectric Power Authority of India.

70819143924, National Highway Authority of India.

Question Number : 86 Question Id : 70819113299 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
NHAI =t Y3 &™f &t J At 839 &1 S a9

Options :
70819143921 Mational Horticulture Association of India.

70819143922. National Heritage Authority of India.

70819143923, National Hydroelectric Power Authority of India.

70819143924. MNational Highwa}-' Auﬂmrit}f of India.

Question Number : 87 Question Id : 70819113300 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

How many Sustainable Development Goals were adopted by the United Nations ?
Options :

70819143925, 15

70819143926. 16

70819143927, 17



70819143928, 18

Question Number : 87 Question Id : 70819113300 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T&EcE 5H5 (United Nations) & feam € fag fog fg 95 72
Options :

70819143925, 19

70819143926. 16

70819143927, 17

70819143928, 18

Question Number : 88 Question Id : 70819113301 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which year, the first industrial policy by Government of India was announced ?
Options :

70819143929, 1947

70819143930, 1948

70819143931, 1950

70819143932, 1949



Question Number : 88 Question Id : 70819113301 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
9792 AIdT 28 fagx As 9 ufost Gharfe &1t wiget aret 2

Options :

70819143929, 1947

70819143930, 1948

70819143931, 1950

70819143932, 1949

Question Number : 89 Question Id : 70819113302 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Planning of Barcelona city in Spain is known for its :
Options :

70819143933, Superblocks

70819143934, radial pattem

70819143935, high rise development

70819143936 waterbased transpf}rt

Question Number : 89 Question Id : 70819113302 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



HUE T 99r1&aT Hidd ©f Gd4&T fTre Ao g J |

Options :
70819143933, == 2%
70819143934, 97 fenmt 3Jta /sHaT

70819143935, ©93 T = Sudl

- T F . fad '_tlr;
70819143936, " AUAIae LIRS

Question Number : 90 Question Id : 70819113303 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these is not an industrial city ?
Options :
70819143937, Durgapur

T B Ty
70819143938, Vishakhapatnam

70819143939. Bhubaneshwar

70819143940, Bhilai

Question Number : 90 Question Id : 70819113303 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el

v 29 faast feg Godfara aardt &4t J 2

Options :



70819143937.

70819143938, =1 HHEH

70819143939, 2-0A<¢

70819143940.

Question Number : 91 Question Id : 70819113304 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these schemes / programmes by Government of India is linked to heritage cities ?
Options :
70819143941, AMRUT

70819143942. Make in India

70819143943, HRIDAY

70819143944, UDAY

Question Number : 91 Question Id : 70819113304 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9793 Agag fenf® {993 /fagad™ AdtHT [ {arH feamst afde &8 93 3¢ 96 7
Options :

70819143941, AMRUT



70819143942. Make in India

70819143943, HRIDAY

70819143944, UDAY

Question Number : 92 Question Id : 70819113305 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following south Indian states has the highest ground water utilization
(in percent) of its total groundwater potential ?

Options :
70819143945, Tamil Nadu

70819143946, arnataka

70819143947. Andhra Pradesh

70819143948, Kerala

Question Number : 92 Question Id : 70819113305 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

faT3 Sust 9793 39 29 usl & =592 (%f9) eRsl ez e Haue AY 3 90 J 7
Options :

70819143945, IHEES

70819143946, “90<H



70819143947, e HEH

70819143948, “9%

Question Number : 93 Question Id : 70819113306 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Survey of India was established in :
Options :

70819143949, 1886
70819143950, 1876
70819143951, 1866

70819143952, 1896

Question Number : 93 Question Id : 70819113306 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
IS Adeds faa=2 Ae fag rafuz Jfonr 2

Options :

70819143949, 1886

70819143950, 1876

70819143951, 1866

70819143952, 1896



Question Number : 94 Question Id : 70819113307 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

As per 73'd amendment act (73"4 CA A) 1992 first time one third (1/3) reservation for women
was provided in which of the following ?

Options :

70819143953, Lok Sabha

70819143954, State Legislative Assembly

70819143955, Cabinets

70819143956, | anchayati Raj bodies

Question Number : 94 Question Id : 70819113307 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
73 2 AU #ae (Amendment Act) (73" CAA) H3rfaa 1992 29 ufget o9 faust Awer fog
wfgst wet Fhar famr (1/3) et o y=iege Jtgr famr T 2
Options :
70819143953, 7 119"

fa

20819143954, 97 € SUTE HEE 9

70819143955, SHI6C

70819143956, Il TH HAEE



Question Number : 95 Question Id : 70819113308 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading,

< 210

- 205
== 200

Street C

_1-200

- 205

e 210
f’#— ’_,l'" 2 ] 5

R Contour N
m Vegetation M Police Station Temple
E Railway Stn [I:I:I:I:I:III] Hospital e School

With reference to the diagram, choose the correct statement.

Options :
Slope of land on which school is located is flatter than the slope of land on which

20819143957, hospital is located.

Slope of land on which police station is located is steeper than the slope of land on
70819143958, Which school is located.

Slope of land on which school is located is steeper than the slope of land on which
708191439509 temple is located.



Slope of land on which school is located is the same as the slope of land on which
20819143960. tomp[e is located.

Question Number : 95 Question Id : 70819113308 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading

oyt 210

- 205

- 200

Street O

= 200
“I_.-"'"

S 7 -

- | My 1 210

o] ,r"ﬁ it 215
I '.

s Water body Market Contour N
m Vegetation % Police Station Temple
[E——] Railway Stn [[[[[[[]] Hespital

g9 fo3 fiz9 & 2y Wit @39 St Se 99 -

Options :

70819143957, 2% <t 79 <t % fawirer fAdt 9, fam qqr &9 omuzs fafag T

T TITT =TI T 03F :P-‘r.a"ﬁp R:
20819143958, yfer g&7 2 /9T 378 famier §79 I fag was fAfag T

(| R rf e AR ,:
70819143959, 20 <t A femimer G759t T faE Wea fafas J1



HIS w3 Hod ©6 fod e8s 3 fRfgg 35 |
70819143960, -

Question Number : 96 Question Id : 70819113309 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading,

i
" p
g £
i g
: v 210
ool | 205
it [ 200
Street C
200
-""'"‘
Lt ek 205
o " i 2“
21

Water body Market Contour N
Vegetation w Police Station | [ | Temple
E Railway Stn ”IIIHI[I Hospital 7] School

: MCQ Option Shuffling : Yes

[n the given diagram, for a person to travel from railway station to temple, one will have to

move in direction.
Options:

70819143961, North

70819143962, North - East



70819143963, South - West

70819143964, East

Question Number : 96 Question Id : 70819113309 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading

Sireet E
 Street B

Street C

. 200

s 008

% 210
< 215

i Water body T-.*larket Cﬁnmur N
Vegetation w Police Station Temple
E Railway Stn IEII:IID] Hospital o] School

Sug 3 133 wigwa fai »rewt § 58 Wews 3 Heg 38 are gl fagst fenr f3g arer year 2

Options :

70819143961.

§39-yam
70819143962 :



TYE-UEH
70819143963.

70819143964.

Question Number : 97 Question Id : 70819113310 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading.

Street C

.. 200

Temple

G f’ Water body Market Contour N
5% Vegetation % Police Station
—— Salbveysi [ [[[], [ Foggtal

In the given diagram, water body is located at a level :

AR Sechool

Options :
70819143965, 5 m higher than police station.

70819143966. 5 m higher than school.



70819143967, Same level as police station.

70819143968, Same level as school.

Question Number : 97 Question Id : 70819113310 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading

Street C

;200

wee 205

P
[ ) e

g Water body Market Contour N
E‘;m Vegetation w Palice Station ]

o Temple
E Railway Stn [I:I:I:I:I:III] Hospital

] School

Qug T8 939 »igHg ust Tt g fagst Gevet 3 fafaz T 2

Options :

— -
20819143965, J1&H HIHE 35 m 59



70819143966, 120 2 2 M TS

20819143967 J1&H ACHG € HITHE

70819143968, 120 © HIHT

Question Number : 98 Question Id : 70819113311 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The following pie-charts show the distribution of students enrolled in higher secondary and
in college education, with respect to the household income of their families.

Higher Secondary Education College Education

The ratio between the number of students from LIG household category stud}-'i_ng al highor
secondary to those in college is :

Options :
70819143969, 41
70819143970, 1:°

70819143971, 6:1

70819143972, 1:4

Question Number : 98 Question Id : 70819113311 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

ﬁ%#ﬂﬁﬁﬁwmmWwwﬁ@@@whmﬁ@?éwmg
o EY 7 |

s fetadt fifimr
LIG : 2 wHeal Iy
MIG : HOH »™H<at day
HIG : 879 wHZal gy
e »HEs! Jay © fefonaet T wigum3 fagz Jes Haaat fafir w3 areq i ©od 13
2 J8 7
Options:

70819143969, 41

70819143970, 1:°

70819143971, 6:1

70819143972, 1:4

Question Number : 99 Question Id : 70819113312 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The surface area of earth is 510 million km?2. The land area is thirty percent of total surface.
Urban land is three percent of total land surface. World popu[ation is 7.8 hillion and ff ty five
percent is urban population. Find the closest correct answer.

Options :

70819143973, The density of population in urban area is 1000 persons/sq.km.



70819143974, The density of population in urban area is 849 persons/sq.km.

70819143975, The density of population in urban area is 4290 persons/sq.km.

20819143976, The density of population in urban area is 7800 persons/sq.km.

Question Number : 99 Question Id : 70819113312 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1331 T a8 AHlal 4398 510 To fG.HT. T »i3 AHist U39es, a8 u3998 © 30% J | Hhial
MHIG % AHiet U398 €1 3% J | Sfewr <t 95 aaufimr 7.8 fafewz J, faw 25 55% & wioat
AGRT IS GFg 9 a9 |

(538 €733 § Jadt fest 2)

Options :
70819143973, FIIST »ra=t € wa3T 1000 »rert y3t =5ar faHt. 7|

20810143074, IS et S wEr 849 wrrenft yFt wea fadt. 7

70819143975, FIIa1 #rEEl € WET 4290 wirert Y3t =59 fa.HT. T |

' W 27 WEIT 7800 WEHT YISt 2991 fa.HT. ©
70819143976. WITST wraet T WE3T 7800 wreHt Y3t 991 Tl 7 |

Question Number : 100 Question Id : 70819113313 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Population of city A, B and C from 1981-2011.

C I
2011 B |
A
C
2001 B
A
C |
1991 B |
A
C |
1981 B |
l I l I I
0 1 1 1 1 1

5,000 10,000 15,000 20,000 25,000
Choose the correct statement :

Options :
City A shows the increase in population from 1981 to 2011 and city C does not show
70819143977. the increase likewise.

= ity B shows a continuous decline in populafion from 1981-2011 whereas city A shows

70819143978, Increase.

Popu[atinn in city A is increasing in each decade from 1981 to 2001 whereas city B

70819143979 shows a decline from 1981 to 1991 and then it increases from 1991 to 2001.

C ity C shows continuous decline in populatinn invarious decades whereas city B shows

70819143980. increase.

Question Number : 100 Question Id : 70819113313 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A, B wi3 C wfag = a&nfaw™ 1981 3 2011 :

2011

=T

C
2001 B
A

1991 B [

C
1981 B |
A

| 1 | 1 |
I i I i I
5,000 10,000 15,000 20,000 25,000

0

Fug fe3 939 & o¥ 9 Adt 995 €1 9= 49 -

Options :

o ‘: S 'T_'Tr_ :"j r:" M _'_,\ t - l . R'E
20819143977, A FI9 T8 oRfunT 7 2 1981 3 2011 Jfewr v € wigy 9 = fom 3 &t 9 |

70819143978 W9 B &9 Bar29 1981-2011 3 AT =7 wer Jfen ug A wigg T fod fag J |

HidT A <7 FaatynT 1981 3 2001 {29 207 yg Hfdd B <F AadfynT 1981 3§ 1991 35 Wt

20819143979, 13 8 1991 3 2001 20T Id7 |

Ffag CBaragd g3 o0d fSg wet st S ya afe B S Sust 3t T |
70819143980.

Question Number : 101 Question Id : 70819113314 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



[nasurvey, the speeds of 100 vehicles were observed. The following table gives the distribution
of vehicle speed and the corresponding number of vehicles.

Vehicle Speed (kmhr~) No. of Vehicles
20 6
25 20
28 24
29 28
33 15
38 4
40 2
45 1

The median speed of the vehicles is :
Options :

3 1
70819143981, 26 kmhr

70819143982, 21.5 kmhr ™!

70819143983, 30 kmhr™!

1
70819143984. 28.5 kmhr

Question Number : 101 Question Id : 70819113314 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



J&T 22 100 ATO&T =7 291 wid AU ot faredt = fag gt fidgt T

Vehicle Speed (kmhr ™) No. of Vehicles
20 6
25 20
28 24
29 28
33 15
38 4
40 2
45 1
Options:

2 1
70819143981, 26 kmhr

70819143982, 21.5 kmhr ™!

70819143983, 30 kmhr™!

1
70819143984, 280 kmhr

Question Number : 102 Question Id : 70819113315 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.

Others argue r_l‘ne}-' raise awareness and provide numerous examples of giving back to the
local communities.

Which of the following best justify ‘Slum Tourism’ in the above paragraph ?

Options :



70819143985, As a charity by privileged people.

70819143986, Asa way to reduce crime.

As a wav to sensitize travellers about poor living conditions in the society.
70819143987, ) p & )

70819143988. As an adventure activity.

Question Number : 102 Question Id : 70819113315 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

Which of the following best justify ‘Slum Tourism’ in the above paragraph ?

Options :
70819143985, As a charity by privileged people.

70819143986. As a way to reduce crime.

As a wav to sensitize travellers about poor living conditions in the society.
70819143987, ) p & )

70819143988, As an adventure activity.

Question Number : 103 Question Id : 70819113316 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers”. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

The nearest meaning of ‘Gawking’ in this paragraph would be :
Options :

70819143989, Learning

70819143990, ~tATing

70819143991, reeping

7081914399, Gloating

Question Number : 103 Question Id : 70819113316 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers”. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

The nearest meaning of ‘Gawking’” in this paragraph would be :
Options :

70819143989, Learning

70819143990, ~tATing



70819143991, Feeping

70819143992, Gloating

Question Number : 104 Question Id : 70819113317 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A: Over the last two decades collective attention span is decreaqi_ng.

Reason R : Quick availability and rapid access to large amount of information leads to loss of
interest in one topic very quickly.

[n the light of the above statements, choose the correct answer from the options given below :

Options :
70819143993, Both A and R are true and R is the correct explanation of A

70819143994, Both A and R are true but R is NOT the correct r_-xpla_natinn of A

70819143995, A 1s true but R is false

A is false but R is true
70819143996.

Question Number : 104 Question Id : 70819113317 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
J5t € 7 o3 | fea 2 fog awa () fao 9 s v ¢ aves oms (W) feor T
fogaEs (3): B evTadIm3 s oA we far 71
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Options :
270819143993, <0 & #3 ¥ HJl I& »id ¥, & ¥ W HTH J |

S AMI AN J I YT Y, IT IS 929 J |

70819143994
70819143995, 2 791 I, ¥ AEI T |
70819143996, X W91 &1 J, Ug ¥ HIT J |

Question Number : 105 Question Id : 70819113318 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R :

Assertion A : In past two decades, rate of divorce has increased in India.
Reason R : Increasing number of married couples do not want to have children.

In the light of the above statements, choose the correct answer from the options given below :
Options:

70819143997. Both A and R are true and R is the correct expla_natinn of A

70819143998, Both A and R are true but R is NOT the correct explanation of A

70819143999, A istrue but R is false

~20819144000. A is false but R is true

Question Number : 105 Question Id : 70819113318 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



J&t € ags 3 95| fea & fog aEs () fagr I »is o & 996 aEs (H) fear U

fegams () fugs € ofgan fdg, 993 fag g ee St w@ Su gt I |
a9 985 () 93 A9 fanwmd 93 99 Ue &d1 995" 970 |
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Options :

70819143997.

70819143998.

70819143999, & AJl I, ¥ T&3 T |

70819144000. TANERT I U At T |

Section Id :

Section Number :
Section type :
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Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 106 Question Id : 70819113319 Question Type : SUBJECTIVE

Correct Marks : 50
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Drawing

708191462
5

Offline
Mandatory
2

2

100

Yes

1
708191742

No



Draw a proportionate skelch of given reference image by using any black and white rendering
teduﬁques of your own choice.

OR

Decode image and prepare balanced composition in a frame of your choice by using any
black and white rendering techniques.

Question Number : 106 Question Id : 70819113319 Question Type : SUBJECTIVE
Correct Marks : 50
WIUE URT ©f a® nF Sic-URaTSt ©f Ja0id © A o3 dF AT® (939 © meHST fi39 588 |
(4m)
fest ot 37R1T ¢ slos aT mie MU SO ©F uRE T a8 fed R3S 99T M9 &9 | Mg uRe
© a5 - g2 Unargt Iaatd € 293 79 |




Question Number : 107 Question Id : 70819113320 Question Type : SUBJECTIVE

Correct Marks : 50

Draw a scene of a Kite festival by using colors.
OR
Draw a Harmonic three dimensional composition with the following two types of objects.
(i) CUBOID A :SIZE 2 cmX 2 ¢cm X2 cm, 5 Nos.
(i) CUBOID B :SIZE5 ecmx2 cmx 2 cm, 4 Nos.

Use “Cool Colorscheme” for composition.

Question Number : 107 Question Id : 70819113320 Question Type : SUBJECTIVE

Correct Marks : 50
gar € 293 ade J9F usdl © 3809 v fFa fem =@ |
@)
J5 fefinft T farrt © @A © &% fea gonled 3 nomit 9957 5978
(i) fa@=fes (CUBOID) A : HU 2 cmx2 cm X 2 cm, 5 Nos.
(i) fa@=fes (CUBOID) B: WU 5 cm X2 cm %2 cm, 4 Nos,
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